



St. Louis County, Minnesota

Date of Report: 12/16/2025 4:49:23 AM

**General Details** 

 Parcel ID:
 275-0010-00880

 Document:
 Abstract - 01205082

 Description:
 40/04/0040

**Document Date:** 12/21/2012

**Legal Description Details** 

Plat Name: BREVATOR

SectionTownshipRangeLotBlock55017--

Description: W 440 FT OF LOT 4 AND W 440 FT OF THAT PART OF SW 1/4 OF NW 1/4 LYING N OF THE HWY

**Taxpayer Details** 

Taxpayer Name ERICKSON ASHLEY R & JOSHUA D

and Address: 3609 COUNTY RD 143
MAHTOWA MN 55707

**Owner Details** 

Owner Name JOHNSON BRENDA
Owner Name JOHNSON MARK

Payable 2025 Tax Summary

2025 - Net Tax \$7,361.00

2025 - Special Assessments \$325.00

2025 - Total Tax & Special Assessments \$7,686.00

**Current Tax Due (as of 12/15/2025)** 

Due May 15		Due October 15		Total Due		
2025 - 1st Half Tax	\$3,843.00	2025 - 2nd Half Tax	\$3,843.00	2025 - 1st Half Tax Due	\$0.00	
2025 - 1st Half Tax Paid	\$3,843.00	2025 - 2nd Half Tax Paid	\$3,843.00	2025 - 2nd Half Tax Due	\$0.00	
2025 - 1st Half Due	\$0.00	2025 - 2nd Half Due	\$0.00	2025 - Total Due	\$0.00	

**Parcel Details** 

Property Address: 8087 HWY 2, SAGINAW MN

School District: 2142
Tax Increment District: Property/Homesteader: -

	Assessment Details (2025 Payable 2026)									
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity			
204	0 - Non Homestead	\$17,300	\$43,900	\$61,200	\$0	\$0	-			
233	0 - Non Homestead	\$51,100	\$129,700	\$180,800	\$0	\$0	-			
236	0 - Non Homestead	\$128,600	\$0	\$128,600	\$0	\$0	-			
	Total: \$197,000 \$173,600 \$370,600 \$0 \$0 6050									





St. Louis County, Minnesota

Date of Report: 12/16/2025 4:49:23 AM

**Land Details** 

Deeded Acres: 19.80 Waterfront: Water Front Feet: 0.00

Water Code & Desc: W - DRILLED WELL

as Code & Desc:	-						
ewer Code & Desc:	S - ON-SITE SAI	NITARY SYST	EM				
ot Width:	0.00						
ot Depth:	0.00						
he dimensions shown are no	ot guaranteed to be s	survey quality.	Additional lot in	formation can be	e found at		
ttps://apps.stlouiscountymn.	gov/webPlatsiframe/f				ions, please email PropertyT	ax@stlouiscountymn.gov.	
<u>-</u>		•		Details (Sgl)			
Improvement Type	Year Built	Main Flo		iross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.	
MANUFACTURED HOME	1982	79	2	792	U Quality / 0 Ft <sup>2</sup>	SGL - SGL WIDE	
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	1	12	66	792	BASEME	NT	
CW	1	12	30	360	FOUNDAT	TON	
DK	1	3	7	21	POST ON GF	ROUND	
DK	1	6	8	48	POST ON GF	ROUND	
Bath Count	Bedroom Co	unt	Room Co	unt	Fireplace Count	HVAC	
1.75 BATHS	2 BEDROOM	MS	-		-	CENTRAL, FUEL OIL	
		Improvem	ent 2 Detai	Is (ATT TO N	ЛН)		
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup> G	iross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.	
GARAGE	1980	90	0	900	-	ATTACHED	
Segment	Story	Width	Length	Area	Foundation		
BAS	1	30	30	900	FLOATING SLAB		
		Improve	ement 3 De	tails (26X40+	)		
Improvement Type	Year Built	Main Flo	oor Ft <sup>2</sup> G	iross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.	
UTILITY	0	1,5	08	1,508	-	LT - LT UTILITY	
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	1	26	18	468	POST ON GF	ROUND	
BAS	1	26	40	1,040	POST ON GF	ROUND	
		Improve	ement 4 De	tails (40X80+	.)		
Improvement Type	Year Built	Main Flo		iross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.	
UTILITY	0	3,2	00	3,200	-	LT - LT UTILITY	
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	1	40	80	3,200	POST ON GF	ROUND	
		Improv	ement 5 De	etails (40X80)			
Improvement Type	Year Built	Main Flo		iross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.	
UTILITY	0	3,2	00	3,200	-	SHD - EQUIP SHED	
Segment	Story	Width	Length	Area	Foundat	ion	
BAS	1	40	80	3,200	FLOATING SLAB		





St. Louis County, Minnesota

Date of Report: 12/16/2025 4:49:23 AM

		Improveme	ent 6 Det	ails (26X66 STO	R)					
Improvement Type	Year Built	Main Flo		Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
MATERIALS STORAGE	0	1,716		1,716	-	MC - MATL CLSD				
Segment	Story	Width	Length	Area	Foundati	ion				
BAS	1	26	66	1,716	POST ON GF					
2,10	·									
		•		ails (24X40 STO	R)					
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
MATERIALS STORAGE	0	960	0	960	-	MC - MATL CLSD				
Segment	Story	Width	Length	Area	Foundat	ion				
BAS	1	24	40	960	POST ON GF	ROUND				
		Improveme	ent 8 Det	ails (OPEN STO	R)					
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.				
MATERIALS STORAGE	0	80	1	80	-	MO - MATL OPEN				
Segment	Story	Width	Length	Area	Foundat	ion				
BAS	1	8	10	80	POST ON GF	ROUND				
		Improveme	ent 9 Det	ails (OPEN STO	R)					
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.				
MATERIALS STORAGE	0	80		80	-	MO - MATL OPEN				
Segment	Story	Width	Length	Area	Foundat	ion				
BAS	1	8	10	80	FLOATING	SLAB				
		Improveme	ent 10 De	tails (MISC STO	R)					
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
STORAGE BUILDING	0	128	3	128	-	-				
Segment	Story	Width	Length	Area	Foundat	ion				
BAS	1	8	16	128	POST ON GF	ROUND				
		Improveme	ent 11 De	tails (MISC STO	R)					
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	<b>Basement Finish</b>	Style Code & Desc.				
STORAGE BUILDING	0	144	4	144	-	<u>-</u>				
Segment	Story	Width	Length	Area	Foundat	ion				
BAS	1	8	18	144	POST ON GF	ROUND				
		Improveme	ent 12 De	tails (MISC STO	R)					
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
STORAGE BUILDING	0	144	4	144	-	<u>-</u>				
Segment	Story	Width	Length	Area	Foundat	ion				
BAS	1	8	18	144	POST ON GF	ROUND				
	Improvement 13 Details (MISC STOR)									
Improvement Type	Year Built	Main Flo	or Ft <sup>2</sup>	Gross Area Ft <sup>2</sup>	Basement Finish	Style Code & Desc.				
STORAGE BUILDING	0	54		54	-	<u>-</u>				
Segment	Story	Width	Length	Area	Foundat	ion				
BAS	1	6	9	54	POST ON GF	ROUND				
		Improveme	nt 14 Do	tails (MISC STO	D)					
		mproveme	iii 14 De	talis (Miloc 310	Ny					





St. Louis County, Minnesota

Date of Report: 12/16/2025 4:49:23 AM

Improvement Type	e Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area	Ft ²	Basement Finis		Style C	ode & Desc.	
STORAGE BUILDIN	G 0	96	6	96		-				
Segmer	nt Story	Width	Length	Are	а	Foundation		ation		
BAS	1	8	12	96	i	POST ON GROUND				
		Improveme	ent 15 Deta	ails (MIS	C STOR)					
Improvement Type	e Year Built	Main Flo	oor Ft <sup>2</sup>	Gross Area	ı Ft ²	Basemer	nt Finish	Style C	ode & Desc.	
STORAGE BUILDIN	G 0	17	6	176		-				
Segmer	nt Story	Width	Length	Are	а		Found	ation		
BAS	1	8	22	176	5	I	POST ON	GROUND		
		Improveme	ent 16 Deta	ails (MIS	C STOR)					
Improvement Type	e Year Built	Main Flo		Gross Area	•	Basemer	nt Finish	Style C	ode & Desc.	
STORAGE BUILDIN	G 0	17	6	176		-			-	
Segmer	nt Story	Width	Length	Are	а		Found	ation		
BAS	1	8	22	176	5	ı	POST ON	GROUND		
		Improveme	ent 17 Deta	ails (MIS	C STOR)					
Improvement Type	e Year Built	Main Flo		Gross Area	-	Basemer	nt Finish	Style C	ode & Desc.	
STORAGE BUILDIN	G 0	96	6	96		-			-	
Segmer	nt Story	Width	Length	Are	а	Foundation				
BAS	1	8	12	96	i	POST ON GROUND				
	S	ales Reported	to the St.	Louis Co	ounty Au	ditor				
Sal	e Date		Purchase	Price			CF	RV Number		
01	\$450,000 (7	This is part of	a multi pard	cel sale.)	247652					
12	/2012	\$160,000 200002								
		As	ssessmen	t History						
	Class	1 1	Land Bldg Tot		T-4-1	Def al Land		Def	Not Too	
Year	Code ( <mark>Legend</mark> )	Land EMV	EM		Total EMV		EMV	Bldg EMV	Net Tax Capacity	
	204	\$17,300	\$42,7	700	\$60,000	)	\$0	\$0	-	
	233	\$51,100	\$126,	300	\$177,40	0	\$0	\$0	-	
2024 Payable 2025	236	\$128,600	\$0	)	\$128,60	0	\$0	\$0	-	
	Total	\$197,000	\$169,	000	\$366,00	0	\$0	\$0	5,970.00	
	204	\$13,200	\$39,0	000	\$52,200	)	\$0	\$0	-	
_	233	\$39,700	\$115,		\$154,90		\$0	\$0	-	
2023 Payable 2024	236	\$53,100	\$0		\$53,100	)	\$0	\$0	-	
	Total	\$106,000	\$154,	200	\$260,20	0	\$0	\$0	3,932.00	
	204	\$45,200	\$87,1	100	\$132,30	0	\$0	\$0	-	
2022 Payable 2023	236	\$47,500	\$0	)	\$47,500	)	\$0	\$0	-	
	Total	\$92,700	\$87,1	100	\$179,80	0	\$0	\$0	2,036.00	
	204	\$45,200	\$83,5	500	\$128,70	0	\$0	\$0	-	
2024 Bayakis 2022	236	\$47,500	\$83,500		\$47,500		\$0	\$0	_	
2021 Payable 2022	230	Ψ+1,500	ΨΟ	' I	ψ+1,500	<b>'</b>	Ψ	ΨΟ		





St. Louis County, Minnesota

Date of Report: 12/16/2025 4:49:23 AM

	Tax Detail History									
Tax Year	Тах	Special Assessments	Total Tax & Special Assessments	Taxable Land MV	Taxable Building MV	Total Taxable MV				
2024	\$4,793.00	\$325.00	\$5,118.00	\$106,000	\$154,200	\$260,200				
2023	\$2,383.00	\$85.00	\$2,468.00	\$92,700	\$87,100	\$179,800				
2022	\$2,637.00	\$85.00	\$2,722.00	\$92,700	\$83,500	\$176,200				

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.